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NPy wg/m* 0.61 0. 69 0. 56 0. 40 1.00 — 3
NURZA=R=E= S VA2 ug/m (0.013) 0.48 (0. 004) (0. 005) 0. 041 — 130
Fho/ppnxFLy ug/m (0. 0092) (0. 0030) (0. 0030) (0. 0028) (0. 0038) — 200
DYA=2= % ug/m 0.55 0.76 0. 59 1.2 1.4 — 150
T/7Vu=krU)L ug/m 0. 037 0. 020 0. 39 0. 0089 0. 020 — 2
ke =1% ) ~— ug/m 0.014 0.016 0.018 — (0. 0051) — 10
VA=2=F: VN ug/m 0.14 0.12 0.17 0.15 0.13 — 18
L2—Y/apxiy ug/m 0.13 0.12 0.16 0.11 0.22 — 1.6
,3—7 &2 vxy ug/m 0.019 0.024 0. 043 (0. 0050) 0. 028 — 2.5
KERK O DILEW) n glg/m? 1.0 1.6 1.3 — — — 40
= 7 LAY n gNi/m’ 1.6 — 2.3 (1. 1) — — 25
b #EERZEDILEY n gAs/m’ 1.1 — 1.1 0. 67 — 4.0 6
< U H RO DA n gMn/m’ 15 — 10 5.5 — — 140
7Y RTALTE R ug/m 0.78 1.4 1.3 — — — 120
k=L ug/m 0. 027 — 0. 054 — — —
RV (a) B LV ng/m 0.17 0.19 0. 053 — — —
RILAT VTR R ug/m 5.0 2.0 1.6 - — —
RY Y7 AROEDLEY ng/m’ 0.28 — 0.018 0. 008 — —
7 a LR NZEDOLEY n g/m’ 2 — 2 2 — —
HAE A F L ug/m 1.3 1.3 1.3 1.3 1.2 — 94
P2 g/m 4.7 2.8 2.3 0.94 5.5 —
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